51.

52.

53.

54.

Addal247

PAPER - II (PHYSICAL EDUCATION)

What was the mascot of first ever Khelo India Para Games ?

(1) Ujjwala (2) Veera Mangai
(3)  The snow Leopard (4)  Ashtalakshmi
TAgYm S H Gl s Gl B YR 1 o ?

(1) It @ i

(3) Tem dgam (4)()3reeast

:A reduction of a person’s motivation and effort in a collective situation compared to a co-active or
individual situation is known as

(1)  Social loafing (2) Social comparison

(3) Motivational climate (4) Social compensation

-y STre St feufa w1 qorn § fat amfess feafy & saf ¥ o w& a9 & #4911
9 H S e R

(1) WS AR & (AfthT)  (2) et g

(3) SR TRAW (SrET)  (4) T sl

A histogram is an approximate representation of numerical data distribution. It was first introduced

by : =
(1) Norman (2) Karl Pearson . (3) Ronald Fisher (4) Francis Galton

A o9 &S e faaw o1 Us af—we feau ¥ 1 38 wduam fre o § fegy sy faar an?
(1) A (2) e T 3) Uee TEeR (4) wifad MeeA

Which of the following are the classifications of flat feet ?

A. Pes Planus B. Functional flat feet @C. Pronated flat feet

D. Flexible flat feet E. False flat feet
Choose the correct answer from the options given below :

(1) A B C Donly 20 A, C Donly

3) C D, Eonly (4) A, B, D, E only
fre1 § @ 92 9E & HH-HH § IR § 2
A, T8 B. WHHiHE TR YE  C. WAfeE guR v
D. 99U 9 E. vt |qR 9
3 few e fashedl # 4 W@ I F 77 Fife -
(1) #99AB,CD (2)~ %9 A, C, D
() +%C D,E (4) ¥a@A, B, D,E
18 047
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WhiCh of the fOllOWiI'IS kCy factors affe Jity to perform change’of-direct'ion

55 ks ? U the atplete’s 201
18K int speed B. T
Sprinting + lechn; racteristics

_ Fat metabolism E. Tacﬁc:,que C. Muscle cha

Choose the most appropriate answer fro, h below :
, :ven below

n ABGC %zﬂg 2 ABD om; °"“‘”3‘)5 g ‘:, B Conly (4 A BEonly
F 87 '
o WASTHRM B Ty c. it frdtand

o fahedl § ¥ W Uy
ﬁéﬁ;ﬁA B,C,D ST T ey
{1) y Dy ey (2) WA,B’D (3) WA,B,C (4) ¥ad A, B, E
Match List - I with List - IL.

56. :
List - I LiSt <11
Body lanldma:ks Explanations
A. Akroplc-)dlon L Midpoint between the brow ridges
B. Dact'y ion Il The most posterior point of the calcaneus _
C. Pterion 1L, The most anterior point of the foot, which may be the first
or second digit
D. Glabella IV.  The tip of the middle (Third) finger
Tl - 1% ¥ Gl - 11 e whifsr
el - 1 Tl - 11
R W@ fog Teamor
A, THMITET L o % fFm e 1 Aeafeg
B. sfwfaad . Hodfra & gaifus 18 i fag
c. wfwm [ e & waifees e fag 3 Teel S1ean gad el & Hehdl
¢
D. e v, WA el () A
Choose the correct answer from the options given below :
St fiw T Faredi B QWA SO 1 = T
(1) A B-IV, C-I, D-II () ALV, B CL DI
(3) AL BV, CII, D-I (4 AV, B D
57. Which of the following involves acts that serve as a‘means to achieve some goal other than the
victim's suffering ? e .
(1) Hostile aggression (2) Reactive-aggression
(3) Impulsive aggression (4) Instrumental apgression
frafafaa mﬁ‘@ﬂﬂnﬁﬁ%%%ﬁﬁﬂ@%g@#aﬁ%ﬁaﬁaﬁm%@
T A % &9 § 1 B € 7 |
(1) vt A e i
(3) e SR @ (D
> 19 047




59.

60.

61.

.+ known

The marupulated vanables are e b i * R PR

(1) Independent vanabies ‘-f Ouk?m': Vanableg
(3 Dependent variables G; D‘mﬂé Variables

RRAmma R e i ¢

0 === 2) ey

) FEmx ) %‘:ﬁ”%rﬁ

hhichmusdsmemusdemm“*‘deofﬂaetaﬂmmh

?

(3)  Semimen] — (4) Gracilis mpsc.

1) T==rwy
(3) iy T I

Q) mmwsim o

L) TEem

— refersip the

Ex{ﬂltt{)“‘hﬂﬁﬁ(h 00 withs = = T _
= Question ‘Iﬂ]mameas:nezsa;na,jrmi;

(1) hter—observerrP.ﬁabiﬁt_r 2) Itﬁmnlcmsis&:[v!é:a}:{nr:

(3) Test-remstmﬁabﬂit_r (2) Institutional consisterey reliabilify
ﬁ?qﬁWﬁmﬁWQW%?ﬁ?ﬁm%ﬁﬁﬁ?ﬁme—;;‘—
TaE?

(1) F95% fasamdm (2) s o0 e
(3) T [.vigw v (4) ToFE I TEs
Analysis of variance is a stabistical method of comparing the

(1)  Variances (2) Means

(3) Standard deviation

(1) v=m (2) W=
() TF fogem (4) HagEE
20

& T W
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el

The obyectives and purposes of the BCCl arg . cricket among college and unjyersj
A.  To foster the spirit of Sportsmansh; sals @ of € Y
students. P and the ide
To impart Physical Education thro
To control and improve quality
To ensure that tickets to cricke
members of the public.

E.  To appoint managers and other temﬂ bfﬁcnals for the
Choose the correct answer from the optiors given pelow *

cricket
ugh the med:ﬂ‘“e ame world-wide
:\nd ,:ct;\]ndards of mﬂble well in advance of the matches o
Ma ¢ are ava .

o mnm

o Indian Teams.

(1) A B.CDonly @ ABD’EOﬂl

(3) A CD,Eonly (4) CDEOFJY
A‘WW%WWWHWWWWWwWﬁWMWWWWW
B e W A Wi o e

C. oo W W €« i TUEH § TS} & figgnd 90 _

D. aﬁgﬁ’fﬁamﬁmﬂﬁ%ﬁmmg@ﬁaﬁmw‘ﬁma'

E wREE 3 i Teu 9 9 A wefumi 5 f e
5= T fosesl © 9 W I = iy :
(1) @A, B,CD () Faw A, B,D B

(3) ¥ A CD,E (4).. %@ C, D, E
Mazich List - T with List - I i
List - I " List-11
Philosophical term ““Meaning .
A Oniology I .. The study of the religion
B. Cosmology II.  The studyof the Nature of being, especially
human existence
C.  Theology III.  The study of the Nature of values
D. Adology IV. The study of the Nature of universe
T - 1% T ge - 11 # e aife)
Tt - 1 et - 11
2T g e
A,  FEEIA L v 9
B. Fame faam I v, foy & w3 affiresl i SHfd 1 A
C. ifA el F Y o e
D. HegHmEE IV. &S 5 ygfq 1 apeaed

Choose the correct answer from the options.given below

%5 feu U fawe 4 WE I 1 T H(C |

(1) AL BI, CIL DIV (2) AL BI Iy, p
(3) A-IV, B, C-I, D-I 4) AL BV, g pam
21 047
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64.

65.

66.

In which of the following, sports, India won more than one gold medal in the 2022 Birminghan
commonwealth games ?

A.  Badminton B.  Wrestling C.  Athleticy [), Table tennis
Choose the correct answor from the options given below ;
(1) B, Conly 20 ABConly (3 AB Donly (4 C, Donly

?ﬂﬁﬁﬁwﬁmﬁaﬁmm%mnﬁmﬁmﬁmﬂmwmﬁmﬂWﬁqmﬂﬂMWﬁMmﬂJM
2

A.  dzfiem B. v C.  yuefan D, 47 2fqn

A few m famred & @ w3 H w9 Ao

(1) *9aB,C (2) #a@A,B,C (3) FWABD (1) FAAC,D

In which type of test the presence and motor effort are needed ?
(1) Statistical test (2) Physical test  (3)  Written test
T yobR & whew § Sufeefy (fremmd) & W wom 7 deEvasd gt €7

(1) wifersa wewm (2) ofid R (3)  fofgg whaw (4) @R Tham

(4)  Psychomotor test

Possible effects of an active warmup are :

A. Increased nerve conduction rate

B. Increased rate of metabolic reactions

C. Increased internal viscosity

D. Decreased baseline oxygen consumption

E. Increased preparedness for competition

Choose the correct answer from the options given below :
(1) A, B Eonly (2) A B,D,Eonly
(3) A, C Eonly (4) B,C, Donly

farelt fpg ad-219 & Gurfeaa 3@ ¢ -

A. dfifa dfeR =eH R

B. surr=dt sifufraneil wt afifd <

C. daffa @11 v

D.  sidior w1 5 (379) g e e
E. afdfa eyl o
ﬁmwmﬁﬁﬂﬁma;[mﬁml

(1) % A B, E (2) %ad A, B, D, E
(3) %&d A, C E @ e B,C,D
22 047
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67.

68.

69.

i

Match List - I with List - II.

List - 1 '
Type of synovial joi List. 11
yp Y“ . joint Example carpal bones of wrist
A. Condyloid joint L Betw e and e
1
B. Plane joint I BEtWEEn ra d yerte e and 1 m
C. Saddle joint . B tween G ;ezium carpal etacarpal bone
. . © DRtween tra

D. Pivot joint IV. Between tarssl gones
g - 1% 9y gE - 10 P g

L et - 1

wrEteEe | & wE ST . -
B. W | L C acC ¥ed? a

2
C. dea 1L Ww@mqmﬁwz@%aﬁa
EEl

D. YU G IV. 7% (Inwd) ggﬁ"ﬂ &

Choose the correct answer from the options given beloV

Sifg feq e fasedl § | Wl I 1 T wifw | =

(1) A, BV, C, DI @ A BN CI DL
(3) AL, B-IV, C-II, D-I O }N,:C'm: D-1

Which of the following are closed kinetic chain exerd{?w?

A. Back squat B. Knee extension C. If‘;ll-hp D. Bench press
Choose the most appropriate answer from the options given below :

(1) A, Bonly (2) B, Conly @) AC only (4) C,Donly
frefafas o 4 S1Y Haa TS ST T § 2

A. T (5%F) WER B. wea-fimr  C fawwed D, SE-SW (99)
3 feq T el H & WEE TG I I T FICL

(1) ¥a A, B (2) ¥aeB,C @) ¥WMAC (4 FWCD

Which of the following refers to the intensity of an éxercise at such a level that the rate of lactic
acid diffusion in the bloodstream equals the rate of itsremoval ? .

(1)  Alactic system training (2) Aerobi‘c:‘C\'bmpensation training
(3)  Aerobic threshold training (4) Anaerobit*threshold training

F o I9F TR F <% GuHE B € 7

(1) T Jome ferem (2) A e wfgem
(3) e HTSHTET Wi (4) ST Freree e
23 047



70, Whic , .
eh of the following statements about literature review in research are correct ?

A To gain an understanding of the existing regearch

H'. I‘.u establish a theoretical framework for the research work

o Toddentify gaps or areas for furthet regearch

D To avold plagiarism

Choose the most appropriate answer {rom the options given below

(1) A, Bonly 2) A B Conly . (3) BCDonly (4 A CDonly
¥ W wifees aflen & way § o § A @9 A Fo w@ 87

A e v & day § g e

B. v & ¥ v Agifass Sad 9 wgpfad w0

C, W ¥ ¥ fraa T styEn U g # geEr RO

D.  wifefe it @ ofer

A1 faw m faded § | we sugaa 39 H A FIC

(1) &ael A, B (2) #%a@ A, BC (3 F9@BCD (4 FadACD

71. A researcher undertaking an investigation into the effects of the internet upon sports league is an
example of :

(1)  Exploratory research (2) - Descriptive research

(3) Explanatory research . (4) ) Predictive research

g vl g T o T gerie F e i SiE- g w1 F § e see @2
(1) TEYIYEH M (2)  faeomers vy

(3) THAEATHE WY (4) vfoeag=e Wy

72.  Terms such as ‘stacking and pyramiding” are practices associated with :
(1)  Anabolic steroid administration
(2) Weight training technique
(3) Loading and unloading for performance
(4)  Athlete Management system
wifa ve ftfafen S wre sy fored weiferm €2
(1) uAfaferd (IT=e) Rae i
(2) A9 (9R) Ffaem gfafe
(3) WeRlA #q TR (HRYT) TH ST
(4) vgedz (faardt) veem vgfd

73, Write the correct sequence of epidermis fronv deep to superficial :

A, Stratum granulosum B. Stratum Lucidum C. Stratum basale
). Stralum spinosum E.  Stratum corneum
foet cafvrad 1, e A Hqd, 1w o ferfiag
A, FUT T B, =S &l C. YR &R (TH 99d)
D. %2 form E. fam &R
Choose the correct answer from (he options given below :
mmmhwﬂﬁﬁuﬁwaﬂwﬁﬁq :
() DEGBA (2) B, E,C A @) CD, A,BE (4) ADBEC
Z 24 047
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74.

79.

76.

Which of the operating definition of

oo a fe 3

A, A vitamin is an organic compom:;ta(;].m.‘ is correct ?tq carbohydrates and proteins,

%‘ A \1«tarm‘n 15 @ natural component of ;Stmct_ h-om.sz Li' is usually present in large amounts,

C. A vitamin prevents a spegitic defj 00ds in whic . which occurs when it is absent or
underutilized. Iciency syndro™”

D

. A vitamin is essental a156 Usua

for normal physiological function.
Choose the most appropriate an

Lly in mingte amoun!

NSWer from t, \ gen below
0 ABCy Ty e
3) A C Donly N o y
foafrt 1 - e g

A, (o =, rteRse T M A A, e g ¢ _

B. mw(“)maﬁwﬁmmm%wﬁﬁﬂﬁmm%'

C. et e e < i (sitony 0§ 51 09 S0 1 € A o S
@W%mewﬂnmw%|

D. mmmwamwﬁmwmmm%l

2 feu T fawedi § 9§ wad SugeR SW F 9 Sl

(1) a4 A, B, C (2) ¥a9B,C,D
(3) @@ A, CD (4) Fad A, C
Match List - I with List - IL
List -1 List - II . .
A. Exergonic reaction ‘I A reaction that requires energy to be driven .
B.  Endergonic reaction [I. A reaction that loses energy as a result of the reaction
C. Bioenergetics III. The process of age—related loss of skeletal muscle mass and
' strength o '
D. Sarcopenia IV. Study the transformation energy in living organisms
T - 1% w9 g - 11 1 e il
et - Tt - I
A, Frte stfufmar L o s RO T 3 S 1 STEvERdl El ©
B. et sfufswan [ o SR S e & ey S 6 e w ¢
c. vm-sfsE L -t 3 F T e wae gt afd
gfshan
D. @R&NEA v, Shfaq Sl § S S 6 ST
Choose the correct answer from the options given below :
3 fer T Forder B B WA I H T FIAC
(1) Al B ClIL D-IV (2) AL B, CIV, DI
(3) AV, BIl, C, D-II (4) AL B CII, DIV
Which cells are directly influenced by fluctuating blood levels of sodium and potassium ions ?
(1) Zona Glomerulosa (2)  Telomeres
(3) Mucin (4) Merocrine
ﬁﬂﬁﬁﬁ?%ﬁaﬁﬁmﬁlﬁﬁmﬁuﬂamﬁmﬁw%waqwmgwﬁa}%?
(1) S A (2) ?T'hﬁﬁ
(3) = (4) SR (¥firm)
25 047



78.

Match List - [ with List - I

List - 1 List-g
Enzyme ]?li::;sle;hssociated with High
els of Enzyme
A.  Creatine kinase . Panqeaﬁhs
B, Alkaline Phosphatase il My Ocardial infarction
C. Amylase e Obstructive jaundice
D.  Aldolase V- Musculay dystraphy
T - 1% T el - 11 1 e F
T -1 T -
T U 3 Se-vot v @ waforr vt
A, frefm s L 3wy
B. IoFomed WigRe I "t dymeq
C. HEas O 37eRY ey
D. RS IV. ¥ geimy

Choose the correct answer from the options given below :

1= fou Tu ol § 4 9@ 0w 994 Hifu

(1) A-I, B, CIV, D-I (2) A-I, B-III, C-I, DIV
(3) A-I, BIV, C, D-IIT (4) A-L B, C-II, D-IV

Find the correct sequence of organizing a raw data into frequency table.
A.  Finding out the range of distribution

Width of the class interval to be calculated

Number of class interval to be constructed

o N w

Putting tally marks for each score in front of the respective class interval
aﬁﬁmaﬁmﬁ(m)aﬁmﬁmq@ﬁmm%aﬁmwwml

A a0 F1 S F @ o

C.  fHfefa foe < et ot s ) e

D. mﬁfn%gmaﬁmﬂ?w&iﬁwﬁfﬁﬁm

Choose -the correct answer from the options given below :
ﬁmmﬁmﬁﬁuﬁmmwm:

(1) D.CBA (2) ABCD @) ACBD 4 BCAD

26 047



71,‘

80.

B1.

2.

Match Lint = T with Lint = 11, \
Lint =1 .
f Iist - omously engaged wi

Ao lixternal regulation I te 1l uton BEd within ag gy,

“ulmvhu‘iﬂ “:ﬂ af Wllll the vilue, PUrpose an lwnpm
pernon (et uing part

| derjyed from pct A person identity and aligns wit,
- Behaviors 10 yalues and goals

- e (or) D8P ralled by tangible r
. Wl ontrolled by 1ang ewards and the
Co Hdentilied regulation I Behaviors Mwunlﬂhlm»‘““

avoldance © ne t
D Integrated regulation IV, Bohaviorm AT undurplnned and directed by shame,

 pride
et - 1w gl 1 (e

pulll, ego ane
e - T
A wm e l TwmmmﬁmﬂﬁﬁHﬁHﬂfmmmmm

W

mﬂwqm’mqﬂmqtmmm
LaUR Y

B, ofedfer Prnm I, Wmmﬂﬂrﬁmﬁﬁm?ﬂmt@

' mg{quﬂwﬂ%w@wmh

¢, orfer fr 1, mmw(wm)wmﬂ@ﬁmﬁﬁm
Ly

D, Al fer v, o oo, s, 8 0e T @ PR 3R st
Lkl

Choose the correct answer from the options glvon below !

A9 fou o fermed] H A Tl T w1 wEA wfoIg

B Introjected regulation Il

(1)  A-11, B-1V, C-I, D-lI (2) A1V, Bl G, DA
(3) AL, B-1V, C-lI, D-J (4) ALV, B-1I, CAII, D-I
When was the first torch of the Paris 2024 Olympic torch relay lit ?
(1) 16 April 2024 (2) 26 April 2024
(3) 8 May 2024 (4) 11 May 2024
afrar 2024 sivelfoes 2 e #) yow ware w8 gowEfer & o
(1) 16 @8 2024 () 26 &9 2024
(3) 6w 2024 (4) 11 7 2024
If an athlete ran 10 miles in 1 hour and 15 minutes, what was the athlete’s average speed ?
(1) 8 miles per hour (2) 6 milt:s per hour
(3) 7.5 miles per hour (4) " 8.7 miles per hour
afz %7 s 1 ¥z 15 fae H 10 Her drgan § A FHT hew nfa @ @ @t 2
(1) & et fa o (2) (6.3 uf wiay
(3) 7.5 e wfe vz (#) (B Tt ¥t sy
Which of the following training is conducted at an @nll’vnaity equal to the lactate threshold ?
(1)  Interval training (2) ©_Repetition training
(3) Tempo training @ Fartlek training
v 1 Fereferfia - e e g (RO ¥ o drgn o i E?
(1) e o (2) T g
(3) @4 (Zoir) yfes (4) O Hfirgon
27
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83.

84.

85.

Name the environmental factor that is related to cohesion :

1 Demographic attributes (2) Coaching behaviors
(3)  The size of the team (4)  Collective efficacy
0 TN Fre 1 T ware S GEH (Yagm) @ g 3

(1) ks o (2) vweE sEER

(3) &\ w R (4) Sfe e

. . PP t
Find the correct type of training for six intensity zone of Endurance training in top to bottor

sequence., 8
Aerobic threshold training

A.  Anaerobic threshold training B.

C.  Alactic system training D. Lactic Acid rraining .
E.  Maximum oxygen consumption training F.  Aetobic compensation training
TEITR TRIE % BT e S ¥, Wi ¥, W § A2 F i, w9 g F I am
A, EEE guTEE wivtem B. e yyEdEE g

C. UfRT yoneh wherem D. oifies s wfnam

E.  otfsan sfiaes sqsin wfiremor F. et gfagfd gfaam

Choose the correct answer from the options given below :

e feu T faeedl # @ vl o 1 9 Hifw

(1) BFEAEDC (2 DCEAEB (3 CDEABF 4 ABCDEF
Match List - I with List - II.

List - I List - I

A.  Face validity L. Reflects whether the component of a measure captur
the essence of the construct of interest

B.  Construct validity II.  Evaluation of Whether measures appear to reflect th
psychological construct of interest accurately

C.  Concurrent validity IIl.  Tests whether a measure of interest is related to
measures of liké constructs

D. Predictive validity IV.  Reflects whether a construct of interest is associatec

with a behavior or an outcome to which it should bx
theoretically related

ot - 1% g gt - 11 &1 faam Sise |

gt - 1 Tt - 11

A.  E e L S8R R #a ¢ % 7 fad a0 F w2 feq fif
% OR $ THed &

B. fafia v II. % qouish o < W fea i st fafidfa =1
Held ¥4 ¥ iafafaq & @ §

C. gHadl duar 1. =& Yde fo = 1 feq a9 wam fafifadi § et ;

D. Ynfaae duan V. 38R o= &2 € fF o #E fea s 38 s1aer
e Tk | Faiftra & fored 38 dgifass = § 9490n
Rl

Choose the correct answer from the options given below :

A fw T fashedi 4 @ Wl s w1 T wifg

(1) A-Il, B-I, C-II, D-IV (2)  A-I, B-II, C-IV, D-III

(3) AL B, C-IIl, D-IV (4)  A-IV, B-III, C-II, D-I

28 047
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88.

89.

90.

The trontal plane (s also known as the

example of

Al
A, Transverse plane B Cormal plane
¢ Madiolateral plane D Hoeontal I‘I"""
Chouse the correet answer Trom the optons givey fulow
\“ Aand D \\“ly (e‘) ( and |||||V
& A and C only () W and ¢ only ¥
e (W) W (W) W M w1 oft e d
A YR T R TR L
C. sy D Wit g
A9 frg my el ¥ Qo s i
(1) ¥ A D (@) e ool D
3)  ¥FEE A NMC (4) Mmoo c
The loss of Physiological adaptation upon the cossation of (ralning, e an
(1) Specificity of Training (2)  Detralning
() Tapering (@) Crosg-Traloing

<R ¥ oraa W e st @ wiftt R e ¥
(1) v = fafred @) ) St (EFT

@) T (4 e sfeuon (st ¢

To construct the test validity coefficients “(‘lljf 0.68 considor as

(1)  Unacceptable (2)  Average (%) High (4)
0,68 F J4 TU T Y T HE 0 G w7 N o o ¥

(1) st (2) o (@) o (1)

The Bass stick test of flexibility was constructed in the year

e w5 A g (o) whe fi e A Fifik R o

(1) 1952 (2) 1920 (3) 148 (4)
Which of the following is a qualitative random variable ?

(1)  Protein content in energy. bars

(2)  Pace of the ball delivered by the bowlar

(3) Highest educational qualification of agports trainer of a team

(4) Height of the cricket stadium on the top of mountaln in o city

foret § & & e e A WY ?

(1) St A H WA & v

(2) ear gra R wd e w f

(3) 9 % ot wfewen @ wate A arderl

(4) W werg H W ut feera frdve wef il diend

29
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91.

92.

93.

D R )

Which of the ¢ ollowing statements about characteristics of muscle fiber types are correct ?

A, Size of motor neuron is smaller for type I fibers }
B. Glycogen stores is high in Type II X fibers |
C. Glycolytic capacity of type I fiber is high

D.  Contraction time of type 11 x fiber is fast

E.  Resistance to fatigue is low in type Il x fibers

Choose the correct answer from the options given below :

(1) A, B, C, D only (2) A, B, Eonly

(3) A, B,D,Eonly (4) B, Eonly

WM R YT Fafreedi % wey W A A Q9 @ FeRmE §0 1
A T IR 3 forw v e FUE 1 SR S A - 3
B. TWUII x sl & foTw Tomgehior Hew 3= 2 2| ?
C. IRYIFR F TR I wdt ¥

D. TRUI x WEeR 1 Heper el g 2 2|

E.  TRYI x Wgeii § orhr o1 wieder first 2m 21

e fow T fomedi # Wt s w1 e i
(1) %94 A, B,C, D (2) %aa A, B, E
(3) $ad A, B, D, E | (4) ¥9@B,E
Match List - I with List - II. ‘
List-F by i - List-11
A.  Cronbach’s Alpha /' L Provide the effectiveness of the total test
B.  Item Analysis ' II. = Usein Estimating Internal consistency
C.  Kuder-Richardson Method III.  Provide a Reliability estimate reflecting the average

of the correléi;ﬁgfl of all possible pairing of halves of
the test LU

/
[

D. Validity i ol "~ IV. Item Analysis |}
et - 1% @19 geit - 11 1 fiae Fif |
et - 1 -0 ()
A. HAEE ATH L ol W i gfea Sersr s ¥
B. we-favweyy = . STA(h Aol 1 STshe w0 § W o ¥
C. Fei-fadaq fafy M1 - W& & 38 weft S 9 & We-Hey ¥ siwa 91
D. dual IV. we-fove o
Choose the correct answer from the options given below : .
e feu e fahedi § @ W I w1 5w Hif h
(1) A-lL B-III, C-II, D-IV (2) Al B-I, C-IL-D-IV
(3) AL Bl CII, DIV (4)  A-IV, B-III, CAII) D-I
The ability to perform medium-duration work lasting 30 .90 seconds is known as :
(1) Lactic‘Endurance (2)  Alactic Endurance
(3) AeI'O'bIC Endurance (4) General Endyrance
30§ 90 HHE T & ToMafYl i Fromfa oy 1 A 7 A W TN T S &2
(1) WfRF TeTfw (2) AR TRl
(3) e WETIf (&) W SR
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94.

95.

96.

97.

The upper-body fat distribu '

b ! n tler Tri

(1) Athletic shape  (2) (_(;;Jml:llzll;ll\l(:pi: mown, as [rolt shap¢ (4)  Triangle shape
mm%mmﬁmtm%ﬂzﬁ(m?gg‘}m ’ 4

(1) RS ST (2) TS SR () s T (4) T (P e
Arrange the following countries gy | .
Asian Games : s AAcendin
A.  Philippines B, Thailand €y Indonesi?

the nu mber of times they hosted the
§ order runkt'tl by | the

D.  South Korea

P 390 1 Y AT SR U e o iy 3 S T
A. fwferd=a B. ey Co ganfir D, afam Hifen
Choose the correct answer from the options pjv‘én helow

3 g o frwed § A W IR T = g

() ABCD 2) B,D,C A '(3) | C, A B, D @4) D,BAC

Which of the follovying s?tul‘emonts about musgulay action ¢ true ?

A. In a concentric action, when a muscle conftracts, it tends t© shorten
attachments closer together o

B. In an eccentric action, a muscle is activated but is [engthened

C. Inan eccentric action, external load helps the muscle to shorten

D. During an isometric action, the muscle is activated but the overall length of the muscle tendon
unit does not change.

Choose the correct answer from the oplions given below :

(1) ABDonly (2) BCDonly (3) A Conly (4) B, Donly

Yot firan & ey A e 9 R W Fu @ ©?

A. Gﬁﬁwﬁwq&"ﬁsﬁﬁyﬁﬁaﬁ%ﬁ%aﬁﬁaﬁﬁaﬂtm%ﬁ%ﬁﬂwamg"m’T
TR e o ot R |

B. Ichgd fman ® vt wftra Ot § W Tw os ol B

C. Iohed fan ¥, s R el R oy A H HEre wa el

D. m@mmﬁ,wwaﬁ%mwmﬁwmﬁmﬁaﬁaﬁﬁ%l

9 feu U fasedi ® @ WE S H =TT R ;

(1) %9 A,B,D () #@BCD (3) FAC (4) Fa@ B, D

Find the correct sequence of series of inter-connected components of a biological control system.
A. Sensor to send data to control center

and pull the two bony

B.  Response to stimulus

C. Change of internal conditions

D. Organs (Effectors) that produce the desired effect

S fram 9 ¥ SA-Hag e I G h el A F Fif

A, HE g fran g S W

B. IE9i & Wfd FfRA

C. ot gumedl # sge

D. A s (wwEs) S e A I B E

Choose the correct answer {rom the options given below -

H13 fau U fomedl H @ WE I T HIC

(1) D,C B A (2) A BCD 3 CABD @) CBAD
& 047



98.

99.

100.

101.

102.

The normal distribution grap
A.  Uniform distribution
C.  Gaussian distribution
Choose the correct answer from

h is also known as:

Bernoulli distribution
Bell-shaped curve

he options given below -

(1) B, Conly @ ADoW () BCDonly (4 C Donly
AT foreon e firer w9 A A E

A.  TF GAM oo B, ""'.‘”";i' fereon

C. i foa D. e o

A fe T fermed # @ WA SHCA TP

(1) %99 B, C (2) ¥ AD B) %A@B,CD (4 FaWCD
When a prediction is to be tested by scientific methods, it is termed as

(1) Treatment (2)  Experimient

(3) Research hypothesis . (4) ResearC_h design
mmﬁmﬁwaﬁﬁwﬁﬁmmwm%ﬁ@ﬁmﬁ@mmw%?
(1) STER (2)

(3) N TR (4) Wy srfiere

Who won the Bronze Boot in the FIFA World Cup Qatar 2022 ?

(1) Kylian Mbappe (2)  Lionel Messi

(3) Antoine Griezmann ~ (49) Olivier Giroud

Fe H 2022 F ST i foveewd § e 2 TR s o2

(1) FwEfaE = (2) AT

(3) TR ISHE (4) snfafeR firme

Which of the following are subjective tools for skill tests ?

A. High-speed videography B.  Coach’s.eye

C.  Global positioning systems D.  Accelerometers

E.  Various sport-specific challenges

Choose the correct answer from the options given below :

(1) A, B, Conly (2)
(3) C, Donly 4)

B, D, E only
B, E only

Frere-vdeo 3 Frafafed S § Sf-aiey s/ aer § 2

A.  T=E-7fd (I) 9l fafedmm B,
C. dfyas safeafq-yomed D.
E. fafay ga-fafire Hifet

e feu T foshed & @ W& W H =m Hifg

(1) <& A, B,C ()
(3) 7@ C,D (4)
The response of the T-cells is called

(1) Cell-mediated immunity ()
(3) Lyme immunity (4)
T- g1 FT ST Fee & .

(1) iR =gafed gfaen
(3) A Hfaued

yies & =M (3fR)
TOTHTIT

%9d B, D, E
%dd B, E

Hl.lmoral immunity
Prions immunity

Feedt (AR TfawaT
faarig afaet
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103

104.

105.

Malch List - I with List - 11,

List - 1 List - I1
Source Hormone
A, Stomach . Secretin
Ii'. l{)ulmlc'num I1, Cholecalcifer]
. Skin 1. Leptin
. Adipose tissue IV.  Serotonin
Tl - 1% @9 g - 11 faem A
gt - 1 Tt - 1
& LS
A. AT L Akfm
B Tevi Il ettt
C. @ . afe
D. &4 Fds Iv. faEfm
('h.nosv the corrcft answer from the options given below :
A few o fored & W TR = i
(1) A-IV, B-lI, C-1, D-111I (2) A-I, B-1v, C-1, D-1II
(3) A-1V, B-1, C-II, D-1II (4) A-III, B-1vV, C-I, D-II
Which is not a complex speed ability ? L0
(1)  Strength speed Sprmtmg strength
(3) Sprint Endurance ( ) ‘Reactlon speed
F11 U Sew /= A @ ¥ C
(1) &/ Jeer i ﬁaﬁ\gwrﬁ (feifem) =t qrra
(3) TETE Hewife ( ) | Sifufsman
Match List - T with List - II. L
List - 1 List - II
A.  Intervening variable 1. When a variable can be divided into more than two
categories
B.  Active variable Il.  Variables that cannot be manipulated
C.  Attribute variable III.  Link the independent and dependent variables
D.  Polytomous variable IV.  Variables that can be manipulated
et - 1% =9 et - 11 1 frem wif L L0
et - 1 RSUER!
A.  wEd W L wﬁﬁmﬁﬁﬁﬁ%%ﬁ@ﬁﬁwﬁaﬁmmﬁ
B. #fFa T I @%Wﬁﬁqqmmﬁ
C. TE T 111, wﬁa&fmmaﬁmm
D. wgwH = Iv. W@ ‘*W‘Fﬂ?ﬁ &R R W wh

Choose the correct answer from the options" glv"en below :

Hr fau U fawedl 4 | | S = Hia |

(1) AV, B-I, C-II, D-III (2) AL B C-IV, D-IT
(3)  A-II, B-III, C-I, D-IV (4)  A-III, B-IV, C-II, D-I
33 0
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106. Match List - T with List - 1I.

List - 1 List - II
Muscle of the Head (Facial) Description _ taved
A.  Levater labii superioris I.  One of the muscle pair forming a V-shaped muscle

mass on chin. > _
Slendef miuscle interior and lateral to Zygomaticys

B.  Depressor anguli oris IL. . (e
C. Risorius . Thin muscle between orbicularis Oris and INETIOT ey
margin labii interior

D. Mentalis [V. Small muscle lateral to depressor 1a
e - 1% Ty gt - 11 H e i) ,

et - 1 ae -1

g =t Uit (1=t ) faawur
A, S9eR ot giufeifa I Wm,wa@mﬁmﬂﬁﬁ?ﬁ(%) ERInIE]
B. fele ariTeh sifem L e s S STy & T A
c. fwifaw . sfr@RE sifE o sl s mie % e

Taedt et ool
D. ¥=fer IV, g i feda ot SRR & e H 2§
Choose the correct answer from the options given below :
= e T foeedl § @ T I F =F91 HifSw
(1) A-IV, B-I, C-I1, D-1II (2) A-III, B-IV, C-1I, D-I
(3)  A-II, B-I, C-IV, D-IIT (4)  A-IIL B-IV, C-I, D-II
107. The first test of power measurement was published by :
(1) Dr. Ruth (2) Dr. D.A. Sargent
(3) C.H. McCloy (4) Nelson
WIfS-A19 &1 YoH TOeq0r fergen g1 FeRIrerd e Ty 2
' (1) TlRITY : (2) TR ELT N

(3) Hu=. Harg 4) A

108. Which of the following statements about Force are correct ?
A. A force can be expressed as a vector quantity.

A force can’t be mathematically expressed.
A force can be graphically represented on paper by a line drawn to scale.
The length of the line would be the magnitude of the force.

. The position/angle of the line would be its direction.
Choose the correct answer from the options given below :
(1) A B,C Donly (2) A, B Eonly 3) A, CD,Eonly (4) C, D,Eonly

SESRRY

ATAFGEU A A T A FA A S TR T ?

A. 96 FI TF FieW TAGT & ©9 H 5 a1 S Ghar

B. @l %I TUEE €9 § ek Ta fRar S ekl 2

C. @ %I TS 0 Tehel STER @il T3 & gR UThid §9 H 1 ST Hhal T |
D. @ %I A s T qRE g

E. 7@ & raredfd/ o0 39! fown 2|

=1 fau v fasedi § | W I H 9w Ffw

(1) %34 A,B,C,D (2) #a@A,BE (3 %90 ACDE (4) &I CD,E
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Arrange the vertebral column regiong from gy inferi®”
: Cervical B.  Fugeq Ha(m:".:'rmr to mc

D: Lumbar E. Small, fuseq =
mﬂﬁm % 34 (gfufier) | e oy or(ygcaﬁm |

p T B e g c, A4
. Ff B T e gy

correct answer from thg OPtions

.

Thorasic

50 the )
g Biven below *

ﬁﬁmmﬁﬁﬁﬁﬁﬁﬂﬁmﬂmw:
2
(1) A,B,C,D,E () A,C,D’B’E (3) A’C’B,ErD

An environmental substance that cauges Mutation 1. qfled :
is called *

(4) A D CEB

10. o
1 (1) Carcinogen (2) Malignant ) Benign (4) Clostridium
e :
sfEdd & Hh wﬂaﬂﬁqmw%w%?
1) FEE (2 T 0 = (4) FAfefzm
111. Which is not an academic search engire ?
(1) Google chrome (2) ERIC (3) Pubmed (4) CORE
fret o A BT T STHEHE | S T2
(1) T () ITIMIMH  3) wade (4) (A AL
112. Internal training load of sports is measured by :
A. Blood lactase concentration B.  Heart rate
C.  Volume of the training D.  Number of repetition in training
Choose the correct answer from the options given below :
() ABConly (2) B, Conly (3) C, D only 4) A, Bonly
Bl & AT R TET0T 1 A fehdieh gRT fohan it @ 2
A @ AERS-9ET B. &d W
C. iy = fodr “'p. e H SevE wl He
4 e u fershedi # | W IO 1 TG H

(1) ¥@ABC (2 ¥@BE () FWCD (4) A A, B

113. A Muscle that assists another muscle’ to accomplish 2 movement is known as :
(1) Synergist muscle “* (2) Target muscle
(3)  Stabilizer muscle (4) Phasic muscle

1 T S o e 4 T S Ge § FEE T, I el € -
(1)  wefFare (dmmam) T 2) e AEh
() i i (4) ST AR

‘ & 047
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114,

115.

116.

117.

118.

119.

—
Progressive tapers can be classified into.
A, Aslow exponential taper B. A linear taper
C. A step taper D. A fast exponential taper
Choose the correct answer from the Options given below :
(1) A, Donly (2) A, B Donly (3) B,C,Donly (4 B,Conly
St 2 ) aftepa faen o €
A, R TR w B. ‘fgw im
C. =Wy D. g w0t o
H fou m fomedi 4 A w@ 3 F T R
(1) %ad A, D (2) %@ A, B, D (3) ¥F@B,C,D (4 FFaB,C
Who wrote the book “Das Methodenbuch” ?
(1) Johann Basedow (2) Rousseaus
(3) ].F. Gutsmuths (4)  Friedrich Ludwing John
T AT (e fae ferdt ot ?
(1) SE IR 2) ==
(3) LU TIHTH (4) Wsfw qgefam v
In the Likert scale, the Zero means the absence of something/opinion.
(1) Interval (2) Nominal (3) Ratio (4) Ordinal
1 Q% @ o T #, vy e @ et <o Y st ?
(1) stauafy (2) e (3) A @4) HUgTH
Who was the first director of the National YMCA at Calcutta in 1908 ?
(1) Dr. Henery Gray (2) Mr. H.C. Buck
(3) Dr. A.G. Noehren (4) Mr. H. Potach
1908 # weshdl § UG 9. w00, F1 999 FRys $7 212
(1) =Ls|a () &tuad. %
3) E. TS ARE 4) T dReE
Which cell is called a killer T cell ?
(1) Suppressor T cell (2) Plasma T cell
(3) Perforin T cell (4) Cytotoxic T cell
=1 9 9§ form i =i A & S Fe s g ?
(1) feft 31 ifiren (2) A 3 I
(3) feg= (Twifa) & Sifv (4) IR SfaHT 2 iR

Arrange the four stages of the psychological continuum model categorizing the connections peopl
form within the realm of sport fandom.

A. Attachment B. Attraction C. Awareness D.  Allegiance
TA-YH S H A o AUl ®1 Juitag w9 SAES 9 qied 1 91 SFensl §1 =aErer
Fifew |

A.  #ATfR B. &N C. SIFTEehdl D. f
Choose the correct answer from the options given below :

4 fau o fawedi § 4 Af IR & 9w Fifww

(1) C,B,AD (2) B,DC A 3) D,CB A (4 A CBD
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120. What characteristics of situations cayse Strece

121.

122.

5
- - i [ﬂ _cr('rt ‘
A. If the event is new and unknown and anxaety

If the progression of the situation is Predictable
If the timing of the event coincides wi, Other ;‘l fcant events.
If the athlete is underprepared physicaj, for u;f:ornp?ﬁﬁon' -
. Ifadirect comparison with others in terms of prckorina® __related charactenstics s impossible.
Choose the correct answer from the options given below
(1) A, B,C Donly 2) A.C Donlv
(3) A, B D, Eonly 4) CDE 01'1!‘.'
&a & vhfefs-5= 776 @ g fem  w fsmn s,
A. A EE (9) TN E FFG A
ofz Fe (T) FHHA T GEE T Gl F wy e @A @
afz faerdl i % fou wifF =9 3 aeq =g § & F9K S
e el & Tt Fav ¥ wed § g & e e 9 o
=g feu 7o faedi § 9 98 3 F1 957 Fa)

Mmoo

, Mg N =

(1) #aa A,B,C,D (2) FaA9A,CD

(3) %949 A, B, D,E (4) #F=@ CD,E

When somatotypes are placed on the somatochart they are called as :
(1) Somato scale (2) The criterion method
(3) Photoscopic somatotype (4) Somatoplots

4 TrieeRd #1 SEEEE W T Y, 4 % (1§ § 0 we S ©
(1) Twe = (2) Wrge fafy

(3) THIRIHIE HHAZET (4) dEETEE

Find the correct sequence of steps when reviewing the literature.

A. Consult secondary sources B.  Write the problem statement
C. Search preliminary sources D. Determine Descriptors

E. Read and record the literature ~F.  Write the literature review
Oifee-adia % S A A T % Fel F9 Bl TEEil |

A, fedgs g 4 st o B. gu= %yd (fa=aww) faam
C. W Fd F1 @ D. FUHAHA- G S
E. ®fga-v24 g Afverad F.  Oifea-ame-oad

Choose the correct answer from the options given below :
9 feu v fagedi 6 9 AE I F 9 FIAC

(1) A BCD,EF 2) BCADEE
(3) B ADCEF (4) ABDECEF
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123, Which of the following statements are related to Henneman's sige principle 7
A Slow-twitch fibers are activated betore tast twitch fiber
B The goal is manimal strength. heavy loads are recommended over lighter Toads
C. Slow-twitch muscle tibers n\q\\ml better to higher welghts and lighter repetitions
D It the primary training R‘“‘ is sire, training across a wide spectrum of repetitton ranges |y
recommended
E. Fast twitch tibers are activated betore slow twiteh fiber
Choose the most appropriate answer (rom the options given below
() ABEonk (2 BCGDonly () A CDonly () A B Donly
ﬁwﬁ%sﬁqﬂmﬁhtm%ﬂm!?

AL TR TR WER A SR wEER T when o

B, T ¥ SR Ve | T MR O A il srOe orvien @) ot R
C.  wR T ITh weeR S WR O T e e S orffien & ¥
D. wﬁwﬁawﬁmmm%ﬁwﬂwhtmm%ﬁufﬂmmﬂmﬁwﬂm

14
E 9 SR WER W o ERa ¥ e whna e ¥
S R e ¥ QSO IEE W SR
(1) $TFABE (2 ¥@BCD () ¥FHACD () ¥FABD

124. Which of the following countries won the gold medal in the field lacrosse competition held at the
London Olympic games in 1908 ?

(1) England (2) Canada (3)  Australia (4)  USA
1908 ¥ weH ¥ e SHeiivs g6 § wiee AR wn § wives fe 8 A fwa a3 st e
(1) 3wivE ) =T @) atefern (4)  HEw asa ol
125. The competition order for Rhythmic Gymnastics in Olympic games is
A.  Ball B.  Hoop C.  Ribbon
D. Rope E.  Clubs
Sees Gl ° o s (Refe refess) g wfmfm sy .
A, ® B. ©WW C. Wi
D. T E 9§
Choose the correct answer from the options given below :
71 feu U fawedl § | Wl ST H 99 K

(1) ABDEC (2 ABCDE (3 DABCE ) DBAEC

126. All lever systems are made up of which of the following components ?
A.  The load B.  The fulcrum C.  The size
D. The effort E.  The Lever
Choose the correct answer from the options given below :
(1) A.B, Conly (2) B, D, Eonly 3) ABDEonly 4) A B CEonly

it JeireTE el freffad e wew @ ffif o ¥

A YR (FEA) B. EE® C. &R (M)

D. WaN™ E. 34w

Fr fag o fawed 4 | Wl I W v wifw

(1) F9@A,BC (2 ¥a@WBDE (3) Ha@ABDE (&) %A@ A B C FE
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129,

130.

131.

Pl the correct sequential steps w il

dove Jdesigit

I“I‘i"u a sample

A Size of sample I ¢, Sampling unit

! VP of ypiverse
S ; "
\m“llnp‘ prog pdurt

el e FSR & & 0 i g a0 e e
A, e @ s b,

D, Budgetary constraind ()

o ¢, wfaar gz

D, S ey B v gy
Chovse the correet answer from the oplions piven 1y
R g T el R Wl S o

M DEBAC @ BCADE @ gppCA @ CEBAD

low !

. Which hormone is often referred to as the body's major metabolic hormone ?

(1) Thyrowd hormone (2)  Luteinizing hormone

@A) Antidiuretic hormone (4)  Lanocortin hormonc
e A e SR ) SR YRR 1 W ST e e e €7
(1) JTESE §NH (2) femfam gt

Q) Wi R (4) SRR g

Who created the competence motivation theory ?

(1) Nicholls (2)  Susan Harter  (3)  Baumrind (4) Eccles
EEELES I B UR R e RE R S R LY

1) Fere @ wRER, (3 s (4) T
Identify the correct sequential order of measurement errors.

A, Subjects B.  Scoring C. Instrumentation D.  Testing
T 3 ¥ W S H H T

A, fawg B.  HHHA C. HWEAY D. W
Choose the correct answer from the-options given below :

4 faw o fawed § @ WE W H TR B

(1) A DBC (2> A B DG 3) D.ACB 4 BACGCD

Force acting parallel or tangentially to a surlace is known as :

(1) Compressive force (2)  Tensile force (3)  Shear force (4) Torque force

ol TSt @ AT STl R w W HT ae (T w9 S S
() HIEeF e (2) @ 9 (3)  UEYU W (4) S
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132, Mateh List - ¥ with List - 11
List - 1 List - 11
A, Cross-sectional studivs L Same participants are studied over a period of yearg
B. Longitudinal studies Il Samples of participants from different age groups
are selected to assess the effects of maturation
C. Tallying method Il Researchers describe their observations as they occur
D Narrative method IV. " Researchers record each occurrence of a clearly
defined behavior within a certain period
Tl - 1% W g - 1w e s
e - 1 et - 11
A, wiafearers s L ge wiqfirdl & o6l o sreaaa fva o &
B. v amamm 1. faf oy o @ wfewfml & wfeeet (F9e) T
qRuaad % W9l &1 e A e §
C. Toam fafy . Vieral 379 Q& 7 36 YR 9uiF Fd & 99 o9 "ied
R
D. faarome fafy IV. Vil o fifvea smfa ¥ i gere w9 & qffem
FGRR I FeliT Tl HI e F4
Choose the correct answer from the options given below :
A feg T fawedi § § W@ s W 9 Fifw
(1) A-II, B-I, C-IV, D-III (2)  A-Im, B-I, C-I, D-IV
(3) A-IV, B-III, C-I, D-II (4) A-l, B-IV, C-II, D-II

133.

Which of the following activities are examplés. of open-skill practice ?
A. Catching a thrown ball B.  Batting a pitched ball

C.  Archery target practice D.  Volleyball serve

E.  Tennis ground strokes

Choose the correct answer from the options given below :

(1) A, B, Eonly (2) A B, D,Eonly

(3) A,CD,Eonly (4) C D, Eonly

freAfafaa sR-4t wfafafmr (framan) TR-ve snam ¥ e §9

A, THRITRACHRFIFE B A (F)) e =1 91 50

C.  wfden @ g D. didiaid & 99

E. 28 uEE €

4 fog e fawedi § 9 9@ SW H w9 Fitaw)

(1) &ad A, BE (2) %aw A, B, D, E
(3) %ad A, C, D, E (4) % C,D,E
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135.

136.

137.

ot - ] with List - I1.

List - 1 ' "
mpic Games List - 1 '
51?113’ 2[?26 summer youth olympicg Host Cltyd Cortina d’Ampezzo, [taly

The 2024 summer olympics L. Milan fmn south Korea

A
B. inter ol i

he 2026 wlm ympics
g‘ %:Z- 2024 winter youth olympics
‘l{ldi‘ [ % =g gE - 1 Eﬂﬁﬁﬂﬂsﬁm

1. GangW?9” 1
. Dakar, 5¢7¢6%
IV Pari.sf Ffa

gl - 1 gt - 11

A, 2026 ﬁﬁ:ﬂm?’i'ﬁ'“* L Waa—?rﬁma@ﬂ, ECall
2024 SRR o o fEol

& auns e ST e, 2

D. 2024 I& g1 SISINE] V. ofd, wid

Choose the correct answer from the options given below :

3 feg e faepedl H | WE SW F w11 ifg |

1) A-II, B-IV, G-I, D-II ?) Al c.111, D-1I

() A BV, CIi, D @ AT, c, D

Find the correct sequence of different phases of periodization of strength training program.
A. Maximum strength phase B.  Anatomical adaptation phase

C. Maintenance phase D. Conversion to specific strength phase

E. Transition phase
warerdl UFIETOT ShshH STHHI % fafv ol & w g =1 91 @Y ¢
A, STferehdA WIS B. YRiftw sAggme 9T

C. HYURU =R D. faftre geerar # ®9iaor =00

E. HhHU =R

Choose the correct answer from the options given below :

F= feu 7T famedl § € G& W F1 999 S

(1) A, B CED (2) ECADB (3 B DAGCGCE 4)
Find the correct sequence of the muscles from head to toe.

A. Pectineus muscle B. Vastus medialis muscle
C. Anconeus muscle D. Peroneus brevis muscle
R | IQiel T Ul % HEt STIhH H1 T4l IR ;

A. fefraa osh B. ora¥ Afeafera e

C. U=pifgd asm D. Wiftam afag gsi

Choose the correct answer from the options given below :

T2 o T forehedi § ¥ W SR B T HIT

(1) B,C D, A 2) D, A BC 3 C A B,D ()
What is a key aspect of the valsalva.maneuver ?

(1)  Opening the glottis

(2)  Closing the glottis

(3)  Decreasing the intraabdominal pressure

(4)  Relaxing the respiratory muscles

ATHIES i T Y Y&] A @1 T 2
(1)  Fvegr (veifeq) =1 Qe
(3)  #19:3507 2@ F1 F7 B
@) vawm Afewd =1 fagia s
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138,

it
7]
<

140.

. Match List = 1 wath List - 11,

L

Which type ol questions ]mumt the respondent to formulate their own response without 5
predetermined (ormat 2

(D Closed-ended questions (2)  Open-ended questions

(M Likert scale questions (4) Rating questions

9 ¥ R form v ¥ v seera A o e 0o Fruifi s F o s o e . AEtd 9 )
(1) e 3w (2) IR g

RIESIFE TR Rl (4) Fufor e

List - 1 List - II
AL Somnambulism [.  Extreme tendency to fall asleep during the day
B.  Narcolepsy . Activities that interrupt restful sleep
C. Parasomnias II. Sleep-walking
D. Schizophrenia IV. Mental d1sorder that involves a disturbance in thinking
R - 1 T Rl - 10 e S
= - 1 T - I
A, ST k ﬁﬂ%@ﬁ@raﬁ?ﬁ?ﬁaﬁﬁr
B e L R S e A d e e 3
C. i m e e
D. fosieE Iv. 9& 9T faer foed fda-or § S6ee o €

Choose the correct answer from the options given below :

+r= TSu T fosedi § ° Wal St H1 999 hig |

(1) AL, B, CII, D-IV (2) AV, B-I, C-II, DI
(3) AL B-IV, CI, D-II (4)'- 'A1V, B, CIL DI

A statistical test of the significance of the dlscrepancy between the observed and the expected
results is called as |

i’ g ,-:

(1) Regression (2) ttest

(3) Chi square (4) - Nominal measure

T 5 Fafaa aRom F e w1 fawnla % @ewa § witersE wdeo o e 8 § 0 s S 2
(1) FEEEm 2 A-Tw

(3) FE WM (4) ifH =g
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gead the given passage and then answer the follgy

Smilar to studies on isolated cells and tissues g
. slititudes show a preference for g

nergy intake s adequate enough

) (141 to 145) :

ing question® onditions, studies on humans

WIC € - y
alysed under VP ources. As long as the dietary
” STANE

erived fuel ent r.p‘."oru“g muscles util?ze little lip%d.
“essacal concepts of a “Lactate Pa - 3t high “""fld_? of presumed ana_omblc .m(‘idhﬂllf‘-31
;—g nat supported by some contemporary studies LES“""T Et: (\: ;s prominent at 111gl\ ?lhtlt:dtt‘;ewl: ;
jactate being produced in diverse tigsge beds and ce;\-‘ te Sl“;l} :l "{“-o nchons gt altituc t.t f]‘; : 'cen}ia
creferred fuel in working muscles and lactate is the ‘ma‘_::g]atq o wenic precursor in support of gy
% hich altitudes. gluconecs | 1
A third role of lactate ie., thatof promoting cellular adaptations at altitude by -mtfeaﬂ?ﬂe};gie
axpression. is also suggested in the literature. while controlled laboratory studies s tartf,il:oers At
for carbohydrate derived fuels under Rypoxic conditions, cachexia is common among mm;; ‘fm— ene} !
fugh altitudes, loss of appetite and-dietary energy inSufii Gency result in body wastmg: e Sua ﬁe
content, carbohvdrate foods are less efficient to'can-y or transport and CHO foodsdt) pn;a. }foo(cl:ls -
water for cooking. Consequently, the tendency is to carry energ\"dense' high-fat an [?ro lg;n S
zlbtude. Because of the disparity between needs of the CNS and }.',eriphera!l nerves and y\.or i tg o]
for CHO energy sources and dietary CHO supply at altitude, lean tissue 1S mobilized to supply

gluconeogenic precursors and adipose tissue is mobilized for glycerol and fatty acids.

ﬁmmﬁrﬂﬁgamaﬁ@wuﬁ%mmu(mmm): _

i S 3 S W aie e e e S, S W fa
TEE 3ERA W SOV Al 9E -6 91 S 59 T “é@?ﬁﬁmﬂm"aﬁm@uwﬁﬁ
ST S S ¥ TR TN 1 ded S wes ST g Wt T g1 i Saedl W
=2z Bdierl ¥oF B T, Tafi e Sl WO 3o O ¥ ol SO WHH ¥ F QA FH F §; FEee
T S o 50 e A ¥ iR S S e 3 g T T e 8

2 =1 T T, S T A T - 1 e 8 g g S R SR Sger B wa &
Z7 Tiie J 75 i A § ) s e wEeeen s sesTaEea feifd ¥ sl seiese ¥ frfw
55 ¥ 9fn e w9 3, Tiariiedl § St oW 1 o S W @ T o iR e St
AT % FRO F9% 69 TA S| ST 0 il Y H T §, et WE aR-a 9 Sua TiEed § 5
FET £ 3 3% 90 § e F1 AEEEH ad €1 IRoTTEy, 19t T okt € S W e g, st
331 3 92 51 @ 9eTY of S S | FEEESE SNl Al vy 9 T T F IR dieet ) sevie I
%raﬁwmwﬁaﬁrﬁgﬁmmﬂaﬁ@?mﬁﬁmﬂm%wmﬁaﬁﬁﬁﬁvﬂaﬁwﬁ
7 7 ZA%] #1 AR frermii 9 99 sl ¥ 99 Sa! B SR 6 e
141. How lactate at altitudes supports glycemia ?

(1)  Lactate induces loss of appetite

(2)  Lactate promotes the “Pasteur effect”

(3)  Lactate serves as a minor fuel in working muscle

(4)  Lactate serves as the major gluconeogenic precursor

ez 58 yan Sardi W et #1 g S s ?

(1) %2 Y3 FT FH 399 FE T |

(2) o2 9 A 5 aeE A R

(3) 2 FHEIE G901 § U Ty $uF & w9 H HE w1
(4) ©HZ UF TG TSR qEH % E 9 W S

radox” invoking

fu
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142,

143.

144.

145.

Lactate promotes cellular adaptations at altitude due to the .
(1)  Loss of appetite (2)  Increased lipid utilization
(3)  Increased HIF-1 expression (4)  Enhanced ‘Pasteur Effect
Az e B Y foy s el T HH STpert o G e £
(1) @+ = (2) T fafrs swEm

(3) THAH wH o -1 el (4) et ‘e g’

Which of the following about lactate is TRUE ?

A.  Ttis a waste product of anaerobic metabolism

B.  Itis not the vehicle linking glycolytic and oxidative metabolism
C. Ttis the link between glycolytic and aerobic pathways

D. Itis the substrate for mitochondrial respitation

Choose the correct answer from the options gitén/below :

() A Donly () A, Conly (3) B, D only (4) C Donly
AR F Wy F A A SR w22

A, TR TS SUITEE T STURTE SR

B. TR RIS T Adfea sumed @ Sed & 9% T ¢

C. ¥ TRSIREE T qryet wril % o= o1 fde &

D. % WRErhifgae vow 3g SR B

A T T formedl & & wdt v = = it 0

(1) %38 A, D 2) &= A, C (3} %= B, D (4) e C, D
What was the observation made in studies on M]:P\ans at altitude ?
(1) Increased lipid utilization by working mdbstles

(2)  Preference for carbohydrate derived energy sources

(3) Lactate shuttling being less prominent )

(4) Lactate does not serve as a g[qqggfogeng.emrsor

e R T R P Y e H @ fem S o2

(1) hrivier A g FeEr fafre swEm

(2) Heieree | frfim e &l 8g S

(3) R JEfe FH WHE

(4) ORE RIS o % &9 H e R e

Body wasting due to dietary energy insufficiency among mountaineers at high altitudes is partly
caused by . o?

(1) Deregulation of gluconeogenesis. i

(2) Mobilization of lean tissue to supply gluéon@ogenic precursors
(3) Preference for low-fat food consumption;

(4) Decreased cellular adaptations due to lactqté

Hferd IreTdl R SRR 31 sTvaf ¥ s AR ¥ i e it w9 & F 3 o @ e
(1) TR & ffm ~a

) RIS TR # 9fi 3 q ! b e S

) T o w39 ¥ e

) m%mmgmﬁﬁmw
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: p 150) :
ead the given below passage and answer the nump estions (146 to

N A re?earch scholar has collected the number ofe:a(:i g:vned by all thi ?;Iughfzril::‘;%e;s;e(g t;:;
university. He identified the cars owned by the Members of English departmen .d G Thoaet
value of each individual car. The value of a Particular car i coflected and recorded. Fremymecs o
values that correspond to the sample are obtained. In, this study the methods are useé:1 bo selec ) e :al;s
that form the sample and to determine the valye of each car in the sample. It could be carried out by
questioning each member of the English department or in other ways- The scholar calculated the average

- value of all the cars in the university. Finally the scholar has calculated the average value of the cars of
- the sample.

fﬁmmmﬁWWWM(mﬁmmwmaﬁw .
L T el 3 vt 3 Sedt 3 it el % ey At ) 5 - R T (W)
| \|

mﬁaﬁsﬁﬁw%m%wﬁaﬁmﬁaﬁﬁ%mmmmmmw%@
=1 Wufea o T el fofere 9 % oW () 9 sinfeq o afufatea e T 31 wRed @ g
| TeateRe T (

) 1 W Wi T T A 1§ yfrey A FR & 99 g T8 TR H YT R
%Hﬁaﬁﬁﬁﬁawffﬁﬁqﬁwmmw%l T ST favm % YO 9o A W U F 1 37

It foar it e o -3 foreaeraers 2wt st 35 st o () ORI R 1 S: Wo-w
%Wﬁmﬁaaﬂmm(n@)ﬁmﬁ% '

146. The cars owned by the faculty members of English department is

(1) Data (2) Population (3) Sample (4) Variable
SR T & Yt el 5-wfire el %
(1) siiwe (2) e (3) el (4 =

147. The calculated average value [i()f“the cars of the sample is .
(1) Experiment  (2) Stdtistics (3) Data (4) Data value
ST & Heifem R 1 Rt i e ¥
V) ¥ @ e @) s @) itwg-m (qe)

148. The value of each indixddualmis .
(1) Variable (2) Data
(3) Data value (4) Parameter
I JafRS ®R H G (AF) TH gl
1) = (2) s
(3) HiFS-TE () @) =

149. The set of values that correspond to the sample obtained is .
(1) Data (2) San_lple (3) Statistics (4) Parameter
T g ey & wa A (Y w5 a=E 2
(1) efewer @) e (3) et 4) v

50. The information seeking froni-é\ferage value of all cars in the university is
- (1) Sample (2) Parameter (3) Variable (4) Statistics
& gl HR % SGATH § G (FRERY) T 4
(1) ferexi 2) 9= (3) = (4) wife!
-00o-
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